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1.View the central management configuration shown in the exhibit, and then answer the question below. 

 
Which server will FortiGate choose for antivirus and IPS updates if 10.0.1.243 is experiencing an outage? 
A. 10.0.1.240 
B. One of the public FortiGuard distribution servers 
C. 10.0.1.244 
D. 10.0.1.242 
Answer: B 
 
2.View the exhibit, which contains the output of diagnose sys session list, and then answer the question 
below. 

 
If the HA ID for the primary unit is zero (0), which one of the following statements about the output is true? 
A. This session is for HA heartbeat traffic. 
B. This session cannot be synced with the slave unit. 
C. The master unit is processing this traffic. 
D. The inspection of this session has been offloaded to the slave unit. 
Answer: C 
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3.Which of the following tasks are automated using the Install Wizard on FortiManager? (Choose two.) 
A. Install configuration changes to managed devices. 
B. Preview pending configuration changes for managed devices. 
C. Import policy packages from managed devices. 
D. Add devices to FortiManager. 
E. Import interface mappings from managed devices 
Answer: A,B 
 
4.View the exhibit, which contains a session table entry, and then answer the question below. 

 
Which one of the following statements is true regarding FortiGates's inspection of this session? 
A. FortiGate applied flow-based inspection. 
B. FortiGate applied proxy-based inspection. 
C. FortiGate forwarded this session without any inspection. 
D. FortiGate applied NGFW flow-based inspection. 
Answer: B 
 
5.View the exhibit, which contains the output of a BGP debug command, and then answer the question 
below. 

 
Which of the following statements about the exhibit are true? (Choose two.) 
A. The local router's BGP state is Established with the 10.125.0.60 peer. 
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B. Since the counters were last reset; the 10.200.3.1 peer has never been down. 
C. The local router has received a total of three BGP prefixes from all peers. 
D. The local router has not established a TCP session with 100.64.3.1. 
Answer: A,D 
 
 


